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�ا� ة�ا�28: 3-/7أ
   :��/@ �-���د 5� دارة آ'�&�
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>ح ا�����   B5� اUPNو  I1Dا��� E*+ ��'�.  
  : +�F@ ا�%�آ�	 ا�%��� 

-  G%5 ��2 ا�%��ر HI��K : �%�
  .E=UPN يإ� ���� 1������J ا�*��
 UPN أن ا�%��� �O��D%& ���-�PQ<+ 3 ا�@ا��3  وK��HI ا�%��ر ��2 إN>ق  -
���% �
 .%@ا�� �5I� ا��ارة   �T و �Sة ا�%��ر ا�9'�&�

   : �Wول ا�����Uت
UPN(V) 9  7.5  6  4.5  

I(A)  0  1.5  3  4.5      
 أي ا���1�D ا�]ي ����Z�  7ات ا�%��� &�. /�&
�) &�XU� 3�Y /��@ة ا����د + -

(D��� ة ا�%��ر ا�]ي�S. 

	 +��� /��@�) Y ���  ��ا����� -� �
� ./  B8ا.)  UPN≠0 و I=0.(  

    �D2-1 ا�� 	د�%'� �9%��/:  UPN = a– b.i  
   . a= E إذن    I=0   ،UPN = E ��2/� ��9ن 
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)/( ا�%� �'� +*E أ&��د ا����و/3 = AV ومYأي ا Ω 

  .r: ه� ا����و/3 ا��ا`-�3 �-���� و��/@ إ��'� ب 
-  	%9� O�[&و��aا������� �a
  :  آ�� �-�  ا�%��� &�. �

UPN = E – r.I E  :3آ�D/�'9ة ا���ا�  
r  :3�-`و/3 ا��ا��ا��. 

��+��a/  
I

U
r

∆
  ./  ا���W)ا����3 ا��
-�3 �-���= ا����و/3 ا��ا`-�3:   =∆

 3b�D-/:  �/���/ ا����� �
��S GaJة  UPN = 0  ��2/� ��9ن ا�%��� &�. /�&

:�3��J  ا�%��ر ا�9'�&�
� 5� ا��ارة 
r

E
II cc ==  

Icc : ة��J�ة ���ر ا��ارة ا��S.courant de court-circuit 
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��ت ا����� H��F�3
  : ا����
 :2-1 ا�%�ا��%�آ�	 ا� •

  
U1=E1-r1.I 
U2=E2-r2.I  
= E1-r1.I+ E2-r2.I 
= (E1+ E2)-(r1+ r2).I 
=E-r.I 

U=U1+U2  
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�. /�آ�a. 2-1 ا�%�ا�� ����
� ا����+ 	

	 +��� ���) ا��D/�'9آ3  ه�� �� �
���E=E1+E2 و 
r=r/��و/%) ا��ا`-�3  1+r2.  
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	 ا����� E,r3  ا(
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	 ا������F�� d5�9��G1(E1,r1) و G2(E2,r2) و ..... و ،

Gn(En,rn) آ3  ه��D/�'9ا� (��� ���+ 	
� �
���E3�-`و/%) ا��ا��و /  re�D& :  
E=∑Ei    و  r=∑ri 
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*E ا����و/3 و+و    �D/� :E1=E2=Eآ3   أي �'�� +*E ا���ة ا��a%�+.�-���/ '9 ا�3��D ا�%� ��9ن �5'� ���
�� ا��

   .r1=r2=rا��ا`-�3
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  ا��D-  ا�9'�&�
�، /�Dك آ'�&�
�: /�7ل

      
 a�%)/ ح<
Bك آ'�  ا�D�� �Q<
BYا��/@ ا�
�&  �

>D�� �Q-  آ'�&�BYا��/@ ا  

  a�%)ح ا��<
B5� اUو Iن /%��آ(�ن��D�/ ��'�.  
2(  a�%)/ ة@��/:  

��ت :����                    ! ول ا
UAB(V) 0  0.50  1  1.5  2  2.5  3  4  5  

I(A)  0  0  0  0.02  0.06  0.14  0.4  0.9  1.4  
 

  :UAB=f(I) ا����@ة •

�3 5� ا���Fل  -Q ��N[0.0.14]  
-  3�*�l� 3 لa)���&I>0.14 

  
ا�%��� ا�]ي ���&  +�
� 3��HI ا����@ة ا��(%����3 و  •

  .’�D/Eر ا8را��	 �(�1 ا���ة ا��D/�'9آ3 ا��;�دة 
ا����/  ا���W) �-��@ة ا��(%����3 �(�1 &�����و/3  •

�
 .ا��ا`-�D�-� 3  ا�9'�&�
• UAB=E’+r’.I : a�%)/ �a
 .ا�%��� &�. �

E’ : a�%)�-� 3آ�D/�'9ة ا���ا�  
r’ :/و��ا��ا`-�3/ (% .  
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	 +��� و j`�         دارة آ'�&�� �

�a'�� و �Sة ا�%��nر  F� ،���+ ��UF	 ا�%��ف 2-1 ا�%���     D�N%�ي 1-2 ���� .�& 
IFت�aز آ> /�'�� �%*�دي إ�>ف ا���آ�%F� �%ا� .   

F (IF,UF) : 3
  . ا��ارةا�Z%Sل+�
2( ���D� ل�Z%Si3 ا
�+ :  
  :ا�
���3 ا����a+�3) أ               

 ��& XUر �

3 ��2  �ن� �%��E*+ �5��I ا���-X و &�*E ا�(-o& PQ<+ ،X+'ا����� وا���B  ا8و/� /��@ة آ  ����+F 1�)� 

3 ا�Z%SYل��&.  
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U 4.5V

= 
 = 
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E=6V 

r=3.75Ω 
R=11.25 Ω 

  
UAB=E-r.I  
UAB=R.I 

  E=(R+r).I   و /�)  E-r.I=R.Iإذن  

F: و &��%��� 

E 6
I I 0.4A

R r 3.75 11.25
= = = =

+ +
  

AB F

E 6
U R.I R. U 11.25. 4.5V

R r 11.25 3.75
= = = = =

+ +
  

  toi de PouilleL  :&������+�ن  )3
X�ا���7  5� ا��9  ر 	ا�%�آ� �a%�+1.  

    
X�ارة  1ا��9  ر�-� d5�9ا�� XUا��  

E=E1+E2 
r=r 1+r2 

R=R1+R2 
 1-2  JD+ 	
� �
���  9� 3a)���& +�ن أوم��3�5 ا�%���ات و�hن إ�+�� q�a
%&:  

 
=R1.I+R2.I 
=(R1+R2).I 
=R.I  

U=U1+U2 
  

  

=(E1-r1.I)+(E2-r2.I) 
=(E1+E2)-(r1+r2).I 
=E-r.I 

UG=UG1+UG2 

U=UG (�/ و  (E1+E2)-(r1+r2).I=(R1+R2).I أي أن :  
=(r1+r2).I+(R1+R2).I 
=(r1+r2+R1+R2).I 

E1+E2  

1: و &��%��� 2

1 2 1 2
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 T+:Enoncé de la loi de Pouillet ��+�ن &����



 أ��2ة، `�رج /��Fع ا���ى 5� دارة آ'�&�
�3 /%�ا��B�/ ./ 3+�9/ 3>ت أو/�3 وا���ر�(�وي �Sة ا�%��ر 
  .ا��D/�'9آ3 ��=%-� ا��28ة ��F/ 1-2ع /��/�ت ا���B>ت ا8و/�3 و ا����و/�ت ا��ا`-���2u� 3ة
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E ∑ :3آ3 &���ارة ا��%�ا���D/�'9ى ا���ع ا���F/  
R ∑ :3�/ت ا8و<Bو/�ت ا�����ع /��F/  
 r∑ : 3�-`و/�ت ا��ا��ع ا����F/3ارة ا��%�ا�����&  

  
  
  

 
  


